2005

2
(
: 4 5 6 !
42 1 3 6 10 10 0 0 0 0 0 12 0
42 0 3 5 12 10 0 0 0 0 0 12 0
0 1 0 1 2 0 0 0 0 0 0 0 0

04.09.01



2005 2004
(%) (%) Q)

5,653,027 100.0 % 3,436,457 100.0 % 2,216,570 64.5%
3,386,855 60.0 % 1,248,492 36.4% 2,138,363 171.3%
2,266,172 40.0% 2,187,965 63.6 % 78,207 3.6%

0 0.0% 0 0.0% 0 0.0%
5,653,027 100.0 % 3,436,457 100.0 % 2,216,570 64.5%
3,386,855 60.0 % 1,248,492 36.4% 2,138,363 171.3%
2,266,172 40.0% 2,187,965 63.6 % 78,207 3.6%

0 0.0% 0 0.0% 0 0.0%
5,653,027 100.0 % 3,436,457 100.0 % 2,216,570 64.5%
3,386,855 60.0 % 1,248,492 36.4% 2,138,363 171.3%
2,266,172 40.0% 2,187,965 63.6 % 78,207 3.6%

0 0.0% 0 0.0% 0 0.0%




21C
2
)
)
3,386,855 100.0%
145,811 4.3%
145,811
1,660,732 49.0%
929,111
446,068
235,035
4,944
45,574
1,580,312 46.7%

1,182,115




Q)

270,331

127,866




2004 2005 2006
1 -
18 38 21 40 21 42
’ 1,360 1,400 1,500
, 70% 75% 75%
7 10 6 9 6 10
450 420 470
65% 70% 70%
2
2 -
39 51 39 60 40 50
2,190 3,210 2,500




2004 2005 2006
65% 70% 70%
( 21 21 21 21 26 30
5 440 10 1,130 5 600
5 11 6 12 6 11
, 11 910 31 2,460 31 2,460
2 _
90% 92% 92%
2 _

10%

13%

15%




2004

2005

2006

90%

92%

92%

83%

85%

85%

100%

100%

100%

85%

85%

85%




2004 2005 2006
- 100% 100%
3 -
80% 80% 80%
13,137 13,700 14,000
60% 65% 70%
3 -
50 60 62




5,653,027 3,436,457 2,216,570
3,386,855 1,248,492 2,138,363
1: 145,811 64,502 81,309
1- 145,811 64,502 81,309
118,109 40,462 77,647
(1260-1261-120-201-01)
- ( )
180,000 * 36 * 90% = 5,832
150,000 * 10 * 80% = 1,200
- ( ) (=27,864)
10,000 * 1,320 * 1.2 * Q0% = 14,256
14,000 * 30 * 36 * 90% = 13,608
- ( ) (=864)
10,000 * 80 * 1.2 * Q0% = 864
- (=68, 250)
500,000 * 21 = 10,500
Auto CAD 2,750,000 * 21 = 57,750
550,000 * 2 * 12 = 13,200
(1260-1261-120-202-01)
49,900 * 3 * 3 *2 = 899
27,702 24,040 3,662
(1260-1261-120-201-01)
- 200,000 * 9 * 90% = 1,620
- (=26,082)
50,000 * 420 * 1.2 * Q0% = 22,680
14,000 * 30 * 9 * 90% = 3,402
2: 1,660,732 754,938 905,794
2- 929,111 302,177 626,934

-1-




)
716,251 232,457 483,794
(1260-1261-120-201-01)
- ) 300,000 * 9 * Q0% = 2,430
- ) 300,000 * 1 * 90% = 270
- 200,000 * 16 * 90% = 2,880
- «C ) 180,000 * 21 * 90% = 3,402
- ( )
180,000 * 11  * 90% = 1,782
(=3,564)
- «C ) 11,000 * 300 * 90% = 2,970
- C ) 1,100 * 600 * 90% = 594
= 1,800
= 516
(=2,486)
-« 2,000 * 120 *9 * 1.1 = 2,376
- ) 2,000 * 50 * 1.1 = 110
= 2,142
(=4,351)
- () 3,500 * 120 * 9 * 1.1 = 4,158
- ) 3,500 * 50 * 1.1 = 193
- () (51,646)
43,000 * 120 * 9 * 1.1 * 90% = 45,976
14,000 * 50 * 9 * Q0% = 5,670
- C ) (2,759
43,000 * 50 * 1.1 * 90% = 2,129
14,000 * 50 * 90% = 630
- (=41,811)
26,000 * 1,130 * 1.2 * 90% = 31,731




14,000 * 50
(=31,698)
30,000 * 570
14,000 * 50
) (=14,058)
60,000 * 110
14,000 * 50

* 16

* 1.

* 21

* 1.

* 11

12,000 * 10

5,000 * 120 * 3

5,000 * 50

5,000 * 570

5,000 * 1,130

5,000 * 320

5,000 * 120 * 13

5,000 * 50

5,000 * 100 * 7
( )

*9

* 3

*1

*1

*1

*9

* 13

* 6

660,000 * 5

(
16,500 * 5

)
* 120

2

2

*

* 90%

* 90%
* 90%

* 90%
* 90%

12 =

*1.1

*1.1

*1.05

*1.05

*1.05

*1.1

*1.1

10,080

18,468
13,230

7,128

6,930

1,440

17,820

825

2,993

5,933

1,680

77,220

3,575

23,100

29,700

89,100




)
C ) ( ) 220,000 * 5 = 1,100
« ) ( )
16,500 * 5 * 50 = 4,125
)
1,600,000 * 3 * 6 = 28,800
)
400,000 * 6 = 2,400
« )
73,000 * 4 * 42 *9 = 110,376
« )
73,000 * 4 * 19 = 5,548
75,000 * 2 * 22 *6 = 19,800
(1260-1261-120-202-01)
= 1,571
= 1,500
= 1,000
(1260-1261-120-202-03)
( 1-2 ) = 70,000
(1260-1261-120-203-03)
= 2,000
(1260-1261-120-303-00)
(=47,050)
265,000 * 110 = 29,150
10,000 * 15 * 36 *1 = 5,400
50,000 * 2 * 125 = 12,500

212,860

69,720

143,140

(1260-1261-120-201-01)




_ 1,500,000 * 1 * 90% = 1,350
- (=9,108)
10,000 * 23 * 40 * 1.1 * 90% = 9,108
- 14,000 * 14 * 55 * 90 = 9,702
100,000 * 40 *5 *2 = 40,000
5,000 * 40 * 10 * 1.1 = 2,200
(1260-1261-120-202-03)
3,500,000 * 43 * 1 = 150,500
2- 446,068 292,693 153,375
446,068 292,693 153,375
(1260-1261-120-201-01)
(=340,861)
- () (=60,629)
«C ) 400,000 * 45 * 9 * 5% = 8,100
«C ) 200,000 * 45 * 9 * G = 4,860
130,000 * 45 * 9 * 89y = 46,859
( ) 90,000 * 9 = 810
- C ) (=7,475)
( 400,000 * 50 * 5% = 1,000
«C ) 200,000 * 50 * 6% = 600
130,000 * 50 * 89% = 5,785
( ) 90,000 * 1 = 90
- «C ) (=42,735)
( 400,000 * 11 * 21 * 10% = 9,240
( 200,000 * 11 * 21  * 40% = 18,480
130,000 * 11 * 21  * 50% = 15,015




)
_ (=43,348)
400,000 * 18 * 16 * 5% = 5,760
«C ) 200,000 * 18 * 16 * 6% = 3,456
130,000 * 18 * 16 * 89% = 33,322
( ) 90,000 * 9 = 810
- ( ) (=44,229)
«C ) 400,000 * 28 * 11 * 4% = 4,928
«C ) 200,000 * 28 * 11 * 4% = 2,464
130,000 * 28 * 11  * 92% = 36,837
- ( ) (=43,769)
«C ) 400,000 * 6 * 36 * 4% = 3,456
200,000 * 6 * 36 * 5% = 2,160
130,000 * 6 * 36 * 91% = 25,553
350,000 * 1 * 36 = 12,600
- ( ) 840,000 * 4 = 3,360
- (=76,600)
«C ) 400,000 * 400 * 1 * 15% = 24,000
«C ) 200,000 * 400 * 1 * 30% = 24,000
130,000 * 400 * 1  * 55% = 28,600
- ( ) (=18,716)
«C ) 400,000 * 20 * 6 * 4% = 1,920
«C ) 200,000 * 20 * 6 * 5 = 1,200
130,000 * 20 * 6 * 91% = 14,196
350,000 * 1 * 4 = 1,400
(=105,207)
- () (=19,440)
200,000 * 45 * 9 * 20% = 16,200
10,000 * 45 * 9  * 80% = 3,240




- () (=2,400)
200,000 * 50 * 20% = 2,000
10,000 * 50 * 80% = 400
- « ) (=6,699)
200,000 * 11 * 21 * 10% = 4,620
10,000 * 11  * 21 * 90% = 2,079
- (=8,352)
200,000 * 18 * 16 * 10% = 5,760
10,000 * 18 * 16 * 90% = 2,592
- ( ) (=8,932)
200,000 * 28 * 11 * 10% = 6,160
10,000 * 28 * 11  * 90% = 2,772
- ( ) (=6,264)
200,000 * 6 * 36 * 10% = 4,320
10,000 * 6 * 36 * 90% = 1,944
- ( ) (=40)
10,000 * 4 = 40
- (=49,600)
200,000 * 400 * 60% = 48,000
10,000 * 400 * 40% = 1,600
- ( ) (=3,480)
200,000 * 20 * 6 * 10% = 2,400
10,000 * 20 * 6 * 90 = 1,080
2- 235,035 113,400 121,635
235,035 113,400 121,635
(1260-1261-120-201-01)
(=39,270)
- () 385,000 * 3 *3 *9 = 31,185




( )
- C ) 385,000 * 3 * 2 = 2,310
- 385,000 * 3 *5 = 5,775
(=22,605)
- C )
165,000 * 1 *3 *2 *9 = 8,910
- C ) 165,000 * 1 *2 *2 = 660
- « ) 165,000 * 21 = 3,465
- ( ) 165,000 * 16 = 2,640
- 165,000 * 30 = 4,950
- 165,000 * 1 * 10 = 1,650
- 165,000 * 2 = 330
(1260-1261-120-202-01)
« D
40,000 * 120 *3 *9 *1.1= 142,560
« D
40,000 * 50 *3 *1 *1.1 = 6,600
40,000 * 40 *3 *5 = 24,000
4,944 4,944 0
3,746 3,746 0
(1260-1261-120-201-01)
(=1,500)
- 15,000 * 100 = 1,500
(1260-1261-120-202-01)
49,900 * 15 *3 *1 = 2,246
1,198 1,198 0
(1260-1261-120-202-01)
49,900 * 3 *4 *2 = 1,198




2- 45,574 41,724 3,850
45,574 41,724 3,850
(1260-1261-120-201-01)
. " (=11,100)
- 20,000 * 450 * 90Y% = 8,100
- 10,000 * 300 = 3,000
OMR (=1,430)
- OMR 110 * 6,000 = 660
- OMR 110 * 7,000 = 770
(=4,784)
- 250 * 6,000 * 80% = 1,200
- 330,000 * 6 * 80% = 1,584
- 150,000 * 10 * 80Y% = 1,200
- « , ) = 800
(=9,000)
- 3,000 *70 *2 *10 = 4,200
- 3,000 *50 *2 *16 = 4,800
(=5,460)
- 30,000 * 3 * 26 = 2,340
- 800 * 50 * 3 * 26 = 3,120
(1260-1261-120-203-03)
= 2,000
(1260-1261-220-405-01)
OMR @) = 11,800
3: 1,580,312 429,052 1,151,260
3- 1,182,115 148,974 1,033,141
348,115 148,974 199,141

(1260-1261-120-201-01)




-10-

)
3,000 * 162 * 2 = 972
a ) = 800
25,000 * 120 * 1 = 3,000
2,800,000 * 1 = 2,800
= 200
) = 1,500
@) = 2,000
20,000 * 3 *1 = 60
150,000 * 1 *1 = 150
(=10,498)
- 900 * 4e* 8 * 280 * 90% = 7,258
-LPG 1,000 * 12kg * 300 * 90% = 3,240
«C ) 900 * 35¢* 8 * 105 * 90% = 23,814
726 * 70* 8 * 35 %2 % Q0% = 2,562
3,640 * 4,041 = 14,710
G ) 3,000,000 * 1 = 3,000
(=910)
_ 450,000 * 1 = 450
- 1,000 * 40 = 40
- 60,000 * 2 = 120
- 300,000 * 1 = 300
(=8,280)
- 90,000 * 12 = 1,080
- 56,000 * 25 = 1,400
- 600,000 * 2 = 1,200
- 200,000 * 1 = 200
- 40,000 * 15 * 1/2 = 300
- 100,000 * 5 = 500




- 700,000 * 3 = 2,100
- 100,000 * 5 = 500
- ) 10,000 * 100 = 1,000
(1260-1261-120-203-03)
= 11,000
(1260-1261-120-301-08)
35,810 * 3 * 12 = 1,290
100,000 * 3 * 12 = 3,600
45,000 * 3 * 12 = 1,620
146,000 * 3 = 438
(1260-1261-220-206-00)
( ) = 850
= 180
= 500
= 800
(1260-1261-220-307-05)
17,000 * 1,373 = 23,341
360,000 * 12 = 4,320
160,000 * 12 = 1,920
(1260-1261-220-401-01)
= 23,000
= 200,000
834,000 0 834,000
(1260-1261-220-401-01)
( = 834,000
3- 270,331 221,993 48,338
261,199 212,981 48,218

(1260-1261-110-101-09)

-11-




-12-

)
(=111,799)
28,630 * 6 * 300 = 51,534
51,534,000 * 4/12 = 17,178
42,950 * 6 * 12 = 3,093
28,630 * 6 * 20 = 3,436
5,370 * 4 *6 x40 = 5,156
51,534,000 * 10% = 5,154
28,630 * 6 * 65 = 11,166
51,534,000 * 1.5/12 = 6,442
120,000 * 6 * 12 = 8,640
(=7,720)
111,799,000 * 4.5% = 5,031
111,799,000 * 1.45% = 1,622
111,799,000 * 0.6% = 671
(=396)
- 15,000 * 6 * 2 = 180
- 10,000 * 6 * 2 = 120
- 8,000 * 6 *2 = 96
(1260-1261-120-201-01)
) 15,000 * 3 * 2 = 90
, ) 15,000 * 3 *2 = 90
2,500 * 56,600 = 141,500
7,502 7,502 0
(1260-1261-120-201-01)
(=552)
- 12,000 * 3 * 12 = 432
- 10,000 * 1 * 12 = 120

(1260-1261-120-405-02)




(=6,950)
25,000 * 150 = 3,750
13,000 * 200 = 2,600
10,000 * 5 * 12 = 600
1,630 1,510 120
(1260-1261-120-201-01)
130,000 * 12 = 1,560
70,000 * 1 = 70
3- 127,866 58,085 69,781
127,866 58,085 69,781
(1260-1261-120-201-01)
(=7,893)
- 72,754,560 * 6% * 1.1 = 4,802
- 12,533,400 * 6% * 1.1 = 828
- 19,781,540 * 6% * 1.1 = 1,306
- 14,490,000 * 6% * 1.1 = 957
16,490,000 * 6% * 1.1 = 1,089
30,000,000 * 10% * 1.1 = 3,300
(=5,184)
- 600,000 * 6 * 90% = 3,240
- 180,000 * 12  * 90% = 1,944
(1260-1261-220-207-02)
= 2,700
(1260-1261-220-405-01)
(=5,500)
-DVD 1,000,000 * 1 = 1,000
2,500,000 * 1 = 2,500
1,000,000 * 2 = 2,000

-13-




-14-

)
= 10,400
( ) 1,800,000 * 51 * 1 = 91,800
2,266,172 2,187,965 78,207
(1260-1261-110-101-01)

(=40,041)

3 ( )
(39,538,000 + 39,538,000 * 53% * 2.4%) * 1 = 40,041

(=866,880)
-4 2,369,300 * 3 * 12 * 1.024 = 87,342
5 2,131,600 * 7 * 12 * 1.024 = 183,352
-6 1,799,700 * 12 * 12 * 1.024 = 265,377
-7 1,410,200 * 5 * 12 * 1.024 = 86,643
-8 1,134,700 * 5 * 12 * 1.024 = 69,716
1,555,600 * 2 * 12 * 1.024 = 38,231
1,348,500 * 2 * 12 * 1.024 = 33,141
9 1,169,400 * 6 * 12 * 1.024 = 86,218
10 686,000 * 2 * 12 * 1.024 = 16,860
866,880,000 * 2/12 = 144,480
866,880,000 * 2/12 = 144,480
(1260-1261-110-101-02)
(=130,682)

5 8,506 * 7 35 * 12 % 1.024 = 25,608
-6 7,216 * 12 35 * 12 *1.024 = 37,242
-7 6,475 * 7 35 * 12 *1.024 = 19,494
-8 5,802 * 7 35 * 12 *1.024 = 17,468
-9 5,204 * 6 35 * 12 * 1.024 = 13,429
.10 4,708 * 2 35 * 12 % 1.024 = 4,050




-25
-20
-15
-10

8,506 * 3 * 60 *1.024 =

7,216 * 8 * 200  * 1.024 =
(=28, 620)

30,000 * 45 * 0.78 * 12
20,000 * 45 * 1.48 * 12 =
(=11,904)
46,500 * 45 * 0.20 * 4
355,200 * 45 * 0.16 * 4 =

(=50,280)
130,000 * 10 * 12 =
25 110,000 * 14 * 12 =
20 80,000 * 7 * 12 =
15 60,000 * 9 * 12 =
10 50,000 * 5 * 12 =
30,000 * 2 * 12 =
50,000 * 1 * 12 =
282,820,800 * 6% * 1.024 =
87,342,000 * 11% =
(=1,320)

30,000 * 2 * 12
50,000 * 1 * 12
50,000 * 1 *12 =

(=14,760)
110,000 * 1 * 12
60,000 * 12 * 12
40,000 * 10 * 12
15,000 * 2 * 12 =

1,568

11,823

12,636
15,984

1,674
10,230

15,600
18,480
6,720
6,480
3,000
720
600
17,377
9,608

720
600
600

1,320
8,640
4,800

360

-15-




-16-

)
40,000 * 2 * 12 = 960
50,000 * 4 * 12 = 2,400
20,000 * 1 * 12 = 240
(1260-1261-110-101-03)
( ) 130,000 * 45 * 12 = 70,200
(1260-1261-110-101-04)
4 5 140,000 * 12 * 12 = 20,160
6 7 130,000 * 20 * 12 = 31,200
8 120,000 * 13 * 12 = 18,720
(1260-1261-110-101-05)
866,880,000 * 1.5/12 = 108,360
(1260-1261-110-101-06)
866,880,000 * 2.5/12 = 180,600
(1260-1261-110-101-07)
40,041,000 * 53% * 18/288 = 1,327
866,880,000 * 18/288 = 54,180
(1260-1261-110-101-08)
(=15,312)
¢ o)
(15,101,000 + 15,101,000 * 58% * 2.4%) * 1 = 15,312
(1260-1261-120-201-01)
(=1,920)
- 12,000 * 5 *2 * 12 1,440
- 10,000 * 2 * 2 * 12 480
21,000
140,000 * 12 1,680
(=1,023)
- (2000cc) 520,000 * 1 = 520




- (1800cc) 468,000 * 1 = 468
- a ) 34,500 * 1 = 35
(=601)
- «C ) 200,000 * 2 = 400
- 201,000 * 1 = 201
(=8,520)
- 520,000 * 12 = 6,240
- 190,000 * 12 = 2,280
2,000,000 * 12 = 24,000
(=720)
- a) = 300
- a) = 300
- = 120
( . 90,000 * 1 = 90
3,000 * 10 = 30
STV 3,000 x5 *12 = 180
640,000 * 12 = 7,680
50,000 * 12 = 600
= 720
(=14,140)
- 30,000 * 1 * 102 = 3,060
- 30,000 * 1 * 352 = 10,560
- ) 40,000 * 1 * 13 = 520
( ) = 9,570
«C ) 4,156,000 * 2 = 8,312
« ) 2,605,000 * 1 = 2,605

(1260-1261-120-202-01)
10,000 * 42 *8 * 12 = 40,320




-18-

)
(1260-1261-120-203-01)
G ) = 6,000
(1260-1261-120-203-02)
30,000 * 45 = 1,350
(1260-1261-120-203-04)
(=9,600)
300,000 * 12 = 3,600
300,000 * 12 = 3,600
200,000 * 12 = 2,400
(1260-1261-120-204-01)
3 650,000 * 1 * 12 = 7,800
4 350,000 * 3 * 12 = 12,600
(1260-1261-120-204-02)
3 500,000 * 1 * 12 = 6,000
4 400,000 * 3 * 12 = 14,400
5 250,000 * 7 * 12 = 21,000
6 155,000 * 12 * 12 = 22,320
7 140,000 * 5 * 12 = 8,400
8 105,000 * 5 * 12 = 6,300
140,000 * 2 * 12 = 3,360
8 9 105,000 * 8 * 12 = 10,080
10 95,000 * 2 * 12 = 2,280
(1260-1261-120-204-03)
50,000 * 41 * 12 = 24,600






